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2 ?- listing. / 5 ?- trace.
max([H],H).
max([H|T],H):-max(T,X),H>=X. 6 ?- notrace.
max([H|T],X):-max(T,X),H<X..
true. 7 ?- consult(‘animals.pl').
?_ H 1 1

3 2- max([2,5,3,4]A). 8 ?- write('hello, world').
A=5; )

9 ?- edit(queens).
4 ?- halt.
Ctrl-D LS =y

T\ = history
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FactsEi#f / father

sunny. /

father(john, peter).
father(john, mary).
father(david, liza).
father(david, john).
father(jack, susan).
father(jack, ray).

l / i / and
mother(susan, peter). RulesH]]

mother(susan, mary). yeye(X, Y) :—/ /
mother(amy, liza). father(X, T),father(T, Y).
mother(amy, john).

mother(karen, susan). mama(X, Y) :-

mother(karen, ray). mother(X, T), father(T, Y).
Goalsf % ~ Queries# @ gunggung(X, Y) :-

? yeye(david,peter). father(X, T), mother(T, Y).
? yeye(A,peter). popo(X, Y) :-

? yeye(david,A). mother(X, T), mother(T, Y).
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factorial(5) = 5x4x3x2x1

factorial(0,1).

factorial(N,F) :-

factorial(0) = 1
or

factorial(N) = F

N=>0, if N=>0

N1 is N-1, && N1 is N-1,
factorial(N1,F1), && factorial(N1) = F1,
F is N*F1. && F is N*F1.

factorial(3,X).

factorial(3,F) :- factorial(2,F) :- factorial(1,F) :-
3=0, 2=0, 1=>0,
N1 is 3-1=2, / N1 is 2-1=1, / N1 is 1-1=0,
factorial(2,F1),<e- factorial(1,F1), & factorial(0,F1),
Fis 3*F1. Fis 2*F1. Fis 1*F1./7?
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J/

factorial(0,1).

R1

R2
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Queriesg‘[;?ﬁl
Rules! EJIJ/ Don’t care H H
first([H|.1,H). first([1]2,3,4],X). X=
last([H],H).
las IT].X) :- last(T,X). T

R1 or R2
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last([1]2,3,4],X).

last([2]3,4],X).

last([3]4],X).

last([4],X).

R1




R1

R2

R3

max([H],H).

max([H]|T],H):-
max(T,X),
H>=X.

max([H|T],X):-
max(T,X),
H<X.

max([3 1,4,2],H).

III'I'

max([3|1 4 ,2],3):-

max([1,4,2],X) —>

3>=X

4 false
Do H | T

max([3[1,4,2],X):-

H is max, if Only 1 element left

2L
H is max, if
X is max(T) X = max(Tail)
and H>=X Head >= X
X is max, if
X is max(T) X = max(Tail)
and H<X X > Head
D’) LI I T
max([1|4 2],H):- R2 HI}T
max([4,2],X) =—rT—> max([4|2] H):-
1>=X “\ max([2],X) —>R1
4 false ~~ 4>=X

max([1,4,2],X) max([1|4 21,X): _K/ R3—H|T
3<X max([4,2],X) max([4|2] X):-
1<X max([2],X) —>R1
4<X
SWi:Prolog Portable 2 false g
R1 insert(X,T,[X]|T]). X T
R2 insert(X,[H|T],[H|NT]):-
insert(X,T,NT). H X T
Query? insert(l,[2,3],P)R P=[1, 2, 3]
P=[2, 1, 3
X, T, [XI}\ P=[1, 2, 3] p:Ez, 3, 1}
R1 |insert(1,[2,3],[1]|2,3]).
X,[H|T],[H|NT] P=[2, 1, 3]
R2 |insert(1,[2]3],[2|NT]):
insert(1,[3], W
X,[T] R
NT=[1,3
[3,1]
RZ  X,[H|T],[H|NThe_
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insert(1,[3],[3|NT]):-
insert(1,[ 1,NT). NT = [1]

N

N

P=1[2,3,1]

X,[T] R1

R2 fail
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=E B F4)

#8 5 (sports)Ewr BN 4@ union | belongsto(sports, union),

4 (music)Eer BN belongsto(music, union).

FHEE  (chess)Zdr JE N A belongsto(chess, union).

Eilr  (art)Egr BN belongsto(art, union).

&8 (flute)2H |y 2= belongsto(flute, music).

EHEEEAE (oboe)4H BN et ar belongsto(oboe, music).

BFk  (basketball)zH ENEEEg belongsto(basketball, sports).
FAN B FH

EXER 249> EEER—(EEg - club(X):- belongsto(X,union).
EXEN—E2 s B —E4HR] - | | group(X):- belongsto(X,Y) & club(Y).

Clubs Groups
o sports —Basketball
c | _ Oboe
O | Music -I:
c | Flute
S | Chess
ProLog —. Art 7

L)LTE@WH%%_‘%EE@E@\%‘%% ° (I) ?5”@%@[3@%%%%{‘[‘@??

A
?- belongsto(chess, union).
?- belongsto(science, union).

(1) ?- group(volleyball).
(2) ?- belongsto(B, music).
(3) ?- group(C).

?- club(A).
GHEAL? (ii) BB = AT G A B SA& ) -

(iii) BLAEFEEE S (C)bLiE - [ F#EEEE S (prolog, lisp) A {124z ?

Prolog Tutorial

http://www.cpp.edu/~jrfisher/www/prolog_tutorial/contents.html
Animal Identification

http://www.cpp.edu/~jrfisher/www/prolog_tutorial/2_17.html

Queens
http://www.cpp.edu/~jrfisher/www/prolog_tutorial/2_11.html
Blocks World

http://www.cpp.edu/~jrfisher/www/prolog_tutorial/2_19.html

a
b on(a,b).
on(b,c).
¢ on(c,table).
table
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